50% is equivalent to —
To find 50% of an amount, divide by 2

\

25% is the same as == To find 25% of an amount, divide by

10% is the same as ——_  To find 10% of an amount, divide by

1% is the same as == To find 1% of an amount, divide by

Find the percentage of amounts.

50% of 400= 40% of 210=
25% of 400= 20% of 120=
10% of 400= 30% of 480=
1% of 400= 90% of 420=
5% of 400= 80% of 140=
20% of 400=

15% of 400=

5% of 160= 45% of £210=
5% of 240= 25% of 120m=
5% of 180= 31% of 480g=
15% of 280= 91% of 420cm=
15% of 320= 86% of 140ml=

6% of 900= 76% of £140=



